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03 RIAHA2ZZ2HE > 19,073 0 19,073
Oozz0l&el A oAbl (28l FIt&) 19,073
S ) P = 99,000& = 1¥ » 12& 1,188
== 18,067,500% / 128 * 400% 6,023
“bE 2 (A 40,000& * 1 = 128 480
-tE =<2 (JIEH 20,0003 = 48 « 123 960
- A G A 120,000& = 1H » 12& 1,440
W S8 AH| 120,000& = 1H = 123 1,440
-YE F Ot 600,000& = 1H « 23| 1,200
-JtH 2 &8I 505,000& * 1¥ = 6& 3,030
ERGPNES A==y 49,500& *~ 1 = 18 891
-S4 74,250 « 1€ * 128 891
-AMHESH XY 382,500 * 1H « 43| 1,530
HASFRMSOFAL K& 2,500 0 2,500
201 Lt 2| 2,500 0 2,500
01 At 22/l 2,500 0 2,500




2A: FUXE
My 20| EMBEE
CHel: MH L J=MEEE (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OND® g+ 2dl 2+8(sSJIFs2 23,9
S IR 5) 2,500,000& 2,500
INE=PNEE] 1,218,110 1,004,706 213,404
2 896,105
N 35,000
= 81,068
= 205,937
ANE2Z ALY 735,000 633,636 101,364
= 588,000
= 44,100
= 102,900
307 2Iz2t0| & 735,000 633,636 101,364
= 588,000
o= 44 100
= 102,900
10 M SXAEEHESIGHEX 735,000 633,636 101,364
OXEZ2ZAY 735,000,000 735,000
= 588,000
= 44,100
= 102,900
NEGEHEHSHEY NS 241,812 236,076 5,736
= 169,268
= 72,544
307 2izto| & 241,812 236,076 5,736
= 169,268
= 72,544
10 MM SAANEEHESIGHEX 241,812 236,076 5,736
OX<EXede 29| 241,812,000 241,812
= 169,268
= 72,544
NEXEHE 483 & 21,000 21,000 0]
= 8,400
= 12,600
307 QI2t0| ™ 21,000 21,000 0
= 8,400
= 12,600
11 Al EXAIEEX 21,000 21,000 0
OXNEAMY 43 =& AIEH A&
21,000,000 21,000
o 8,400
= 12,600
SYINSSIAMY KR (BYISSHI) 18,493 50,550 A 32,057
= 14,794
= 3,699
307 2I2+0 & 18,493 50,550 A32,057
= 14,794
= 3,699




AN FUAX B
M IO ZMELEH
chel: REX (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 18,493 50,550 A 32,057
OZ2s=0l Us +30Y LLSXH (523
sSSEI) 18,493,000& 18,493
= 14,794
e 3,699
S|AIBEEMY KNI (SLISEEII) 129,982 0 129,982
2 106,585
< 23,397
307 glz2tol & 129,982 0 129,982
2 106,585
< 23,397
11T M ZXALSE EX 129,982 0 129,982
02520l Y= 22X 223 XA (8Y
ISEEII) 129,982,000& 129,982
= 106,585
< 23,397
S|AIBEEMY KNI (HESUIZBEE) 11,190 0 11,190
= 8,952
< 671
s 1,567
307 gl2tol & 11,190 0 11,190
= 8,952
< 671
s 1,567
11T M SRASE EX 11,190 0 11,190
O2RS20 Y= 22X 243 XA (FY
S|YIsSSEH 11,190, 000& 11,190
= 8,952
= 671
s 1,567
WSS EAYE X 10,633 23,747 A13,114
= 8,506
s 2,127
307 21201 A 10,633 16,900 AB,267
= 8,506
[ia 2,127
11T M SXALSE EX 10,633 16,900 NGB, 267
O22s380l Y= =3 €22 NI (UHY
IBEEF) 10,633,000& 10,633
= 8,506
s 2,127
RS TS AS M HIASTHANY (OFARES SR 22( At 50,000 32,857 17,143
K& Ared)
Xl 35,000
= 4,500
e 10,500
301 et a = 50,000 32,857 17,143




SN FUNAD
My 20| EMBEE
CHl: X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 35,000
& 4,500
= 10,500
01 Al B & A 46 2 50,000 32,857 17,143
OJIAI2HY g2 22| AF XI& AFY
50,000,000 50,000
N 35,000
& 4,500
o 10,500
FAHES SNAE 16,268,217 13,298,825 2,969,392
2 9,352,917
& 1,594,264
= 5,321,036
He=XSA 16,268,217 13,298,825 2,969,392
2 9,352,917
&< 1,594,264
= 5,321,036
Zofel 22X 22,922 13,580 9,342
201 gEt24y| 12,102 12,280 AN178
01 AP 22| H| 12,102 12,280 AN178
O&MAPR2FA LB FH| 700,000& 700
OZOHA NS X EXME 1,100& = 2,6000H 2,860
ODECREHR TOUINC L2442
4.,0002 * 5000H 2,000
OHMAXNSXHEXN RASEHDIR HE
1,000& = 1,5000H 1,500
OHMA=SRIIIE HIsH| 3,2202 « 1,1000H 3,542
OFeI 2 KB AINAHE 1,000
~HOHQI o L(EoHeIHAE ) 600,000& 600
-A2ZEEOQ SAHSEIUE & X Z=0l)
400,000 400
OZe MsSEEF OF2BHAIE & X
5,000 * 100 500
202 o4 | 9,520 0 9,520
01 2L I 9,520 0 9,520
OXHMAUXSE HL2=F=& HH| 9,520,000& 9,520
303 ZAZ2 1,300 1,300 0
01 ZAaZ 1,300 1,300 0]
OZSHHUMAET 20 2M AlY 1,300
-X R 300,0008 » 282 A 600
-2 = 200,0008 ~ 282 A 400
-5 A 100,000 * 382 M 300
0§ el e 2H| 51,843 46,765 5,078
= 41,474
& 7,258




SN EOIXE D
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 3,111
308 XX EHSOIA 51,843 46,765 5,078
2 41,474
< 7,258
s 3,111
10 B/ 2SOHUHSZAEEALS I 51,843 46,765 5,078
OoFofelezdl XA 51,843,000 51,843
2 41,474
< 7,258
[ia 3,111
ZOHAEE R 2 4,387 5,249 A 862
= 3,509
< 615
s 263
301 et A=z 4,387 5,249 A 862
= 3,509
< 615
[ia 263
01 AR 2Z A5 3 4,387 5,249 A 862
OFMATHEBE XD+ 4,387,000 4,387
= 3,509
< 615
s 263
FHSSEMAT2Z 6,600 6,600 0
= 3,300
< 2,310
s 990
301 et d=s 6,600 6,600 0
= 3,300
< 2,310
[ia 990
01 MEI2EZE+06l= 6,600 6,600 0
OMASZEOHR AEHHl 2 HAH X&
6,600,000 6,600
= 3,300
= 2,310
s 990
ORI Riel NAAS (LersEdXtel) 312,844 172,881 139,963
= 156,422
< 46,927
s 109,495
101 1A Hl 312,844 172,881 139,963
= 156,422
< 46,927
s 109,495
04 JIZHHZ2XRHEE S 312,844 172,881 139,963




2A: FUXE
HE: NS =X
Sl BOHAUSNSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZofeId Xl NFAIS (dersdXtel)
312,844,000 312,844
= 156,422
o=t 46,927
= 109,495
ZHOf oI Kt KIAFS (AIZERIL Xt2]) 44,716 38,416 6,300
= 22,358
== 6,707
= 15,651
101 Q124 H] 44,716 38,416 6,300
= 22,358
= 6,707
= 15,651
04 JI2ZtHIZ22NEES 44,716 38,416 6,300
OZoI LTl KA (AZ2ERIL XE2l)
44,716,000 44,716
= 22,358
& 6,707
= 15,651
Zofeld Kt KA (2XLRe2l) 126,720 99,792 26,928
= 63,360
== 19,008
= 44 352
307 2Iz2t0| & 126,720 99,792 26,928
= 63,360
= 19,008
= 44,352
05 QIZ2tREF 2 126,720 99,792 26,928
OXOHQILREl KA (2R LRE)
126,720,000 126,720
= 63,360
& 19,008
= 44 352
O HFAIE S EX 2 7,066,530 5,580,056 1,486,474
= 4,946,571
== 635,988
= 1,483,971
301 LBt A= 7,066,530 5,580,056 1,486,474
= 4,946,571
= 635,988
= 1,483,971
01 Al E & A 462 7,066,530 5,580,056 1,486,474
OZMHAUANAFAIE 29X A 7,066,530,000& 7,066,530
= 4,946,571
= 635,988
= 1,483,971
ZOHAHF=AIE HA4AE 23HEH S A& 4,620 7,000 N 2,380
& 1,848




AN FUAX B
B FoE SXK
Sl o EXEH (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 2,772
301 LEtE A= 4,620 7,000 A 2,380
< 1,848
s 2,772
01 MEIBEZE 05z 4,620 7,000 A2,380
OFMLUAN=AE B44E 2SHEH S N
4,620,000 4,620
< 1,848
e 2,772
HONQUANEAL AT NHEEHD X 24,000 12,000 12,000
< 9,600
s 14,400
301 Yere A 24,000 12,000 12,000
= 9,600
s 14,400
01 MEI2EZE 46z 24,000 12,000 12,000
OFMAAN=AIE EAX NEFEAS XA
24.,000,000& 24,000
< 9,600
s 14,400
ZOoHe XFAE HEAE2Z 1,853,334 1,619,056 234,278
= 185,334
s 1,668,000
307 gl2tol & 1,853,334 1,619,056 234,278
< 185,334
s 1,668,000
10 AL SXAIEEE2EHEX 1,853,334 1,619,056 234,278
OFUEBSANE2I 129,756, 000& 129,756
< 12,976
s 116,780
OAZZfeI=N22Y 1,268,110,000& 1,268,110
< 126,811
s 1,141,299
OFMTHIIEXNSAEEHSE  135,519,000& 135,519
< 13,552
s 121,967
OHMIME0IsSKNIMHSE 319,949,000 319,949
< 31,995
s 287,954
RO XIGAS THEAME 22 (2Hl) 372,260 202,387 169,873
307 21201 A 158,573 86,075 72,498
05 BIZERI & 3 158,573 86,075 72,498
OFMUII=SXNAHE 2Ll 158,573,000& 158,573
405 RHoHF S HI 213,687 42,160 171,527
01 AL EZFH S 213,687 42,160 171,527




ZoINA
HAANES =X
L EIEPETS ST
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OFMLIIEXNALEEH &Il ¢ 975
-IHEI & 30,0002 * 8H 240
-ALRE 153,000 * 1M 153
-Z0lAl 47,000& = 9K 423
—IIh 24 159,000& * 1CH 159
OZ0h el WA 212,712,000 212,712
N2 ZOHAANFAIE XA 48,885 41,580 7,305
< 9,777
s 39,108
307 21201 A 48,885 41,580 7,305
< 9,777
[ia 39,108
10 At3I = X F2IHIEX 48,885 41,580 7,305
O =24 HOIH=AIE XI& 48,885,000& 48,885
= 9,777
fia 39,108
Ot d X 89,536 94,036 A 4,500
307 glz2tol & 89,536 94,036 A 4,500
10 AL SXAIEEE 2 H EX 54,336 54,336 0
OFHeIHE s 29l 54,336,000 54,336
11 M3 =X g2 35,200 39,700 A 4,500
OXZOHIHAE X 35,200
-ZoHele ¢ 9,000, 000& 9,000
—EXEOI2 ¢ A L SEHHE
8,000,000& 8,000
-84z Zoel AAX 4,500,000 4,500
“Zfe REEgsdEA 500,000& 500
M2 XAMEOHS NEX HE 1,000,000 1,000
8= DSEMY NEX HEl 1,000, 000& 1,000
-ZoHel J1s3dI sl 3,000,000& 3,000
-wEsHe HsxE= Ual 700,000& 700
-SHEM EHMOi0tctEZ I Ha
500,000& 500
“AIZEe BRENE ¥ BN NS
7,000,000& 7,000
FH30 XN (s0HE ZOHQ FEHIHEZAY) 38,000 19,000 19,000
= 19,000
< 13,300
fia 5,700
307 gl2tol & 38,000 19,000 19,000
= 19,000
< 13,300
[ia 5,700
05 RIZHRIE 3 38,000 19,000 19,000

_20_




AN FUAX B
g HAAS SAXNE
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAHE0W NI (sHE Z0HA =HIHEALY)(
nH=EH) 38,000,000& 38,000
= 19,000
< 13,300
i 5,700
ool A228= X3 15,600 15,600 0
301 et d = 15,600 15,600 0
01 Ml2ZE 06z 15,600 15,600 0
OMNASZMY HZESEE N
1,300,000& * 12& 15,600
SLETHEAEA X 319,361 263,520 55,841
= 223,552
< 28,743
[ia 67,066
301 et A3z 319,361 263,520 55,841
= 223,552
< 28,743
[ia 67,066
01 MI28E 06z 319,361 263,520 55,841
OLLMeMtl A X (HH0tS MEXZALLY)
319,361,000 319,361
= 223,552
< 28,743
s 67,066
ZoHelAzg XA 4,247,246 3,778,146 469, 100
= 2,973,072
< 382,252
s 891,922
301 LA Z 4,247,246 3,778,146 469,100
= 2,973,072
< 382,252
[ia 891,922
01 MI28E 6= 4,247,246 3,778,146 469, 100
OFeldzs XA 4,247,246,000& 4,247,246
= 2,973,072
= 382,252
e 891,922
=== (II=x) 293,242 293,244 A2
= 205,269
= 61,581
e 26,392
301 LtE L= 293,242 293,244 A2
= 205,269
< 61,581
s 26,392
01 MEIBZE 05z 293,242 293,244 A2
OFM==(IN=x) 293,242,000 293,242

_21_




AN FUAX B
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 205,269
< 61,581
= 26,392
O+ (Itakel) 232,711 251,600 A 18,889
= 162,897
< 48,870
s 20,944
301 et d=s 232,711 251,600 A 18,889
= 162,897
< 48,870
s 20,944
01 MEI2EZE+06l= 232,711 251,600 A 18,889
O+ (X&) 232,711,000& 232,711
= 162,897
< 48,870
s 20,944
AMZEOMCIONE HAKNSXEI] KIS AS 1,200 1,200 0
< 600
i 600
307 21201 A 1,200 1,200 0
< 600
e 600
11T MISXASEX 1,200 1,200 0
OAZLZEOHQIILE IAXSS XD XIJ AL
1,200,000& 1,200
< 600
[ia 600
ZOHUESXIAME 710,007 542,472 167,535
= 497,005
< 42,600
e 170,402
301 et a = 710,007 542,472 167,535
= 497,005
< 42,600
e 170,402
01 MEIBEE 263 710,007 542,472 167,535
OIS NE(2SNES0H)
710,007,000& 710,007
= 497,005
< 42,600
[ia 170,402
ZUHESXNANM(ZSHMABSEZINAZO) 1,007 495 512
= 705
< 60
i 242
301 et d = 1,007 495 512
= 705
< 60

- 22 -




SN FUNAD
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 242
01 MEIBZE 06z 1,007 495 512
OFUESXE M (2sEX IHat20)
1,007,000& 1,007
= 705
< 60
i 242
SSHMY s2x FIHANA 23,241 14,350 8,891
= 6,972
s 16,269
301 et d = 23,241 14,350 8,891
< 6,972
s 16,269
01 MEI2BZE 06z 23,241 14,350 8,891
O gs2x FILXF 23,241,000 23,241
< 6,972
s 16,269
e ALSTEBSAY 10,000 10,000 0
< 4,000
s 6,000
307 21201 A 10,000 10,000 0
< 4,000
[ia 6,000
11T MISRAISEX 10,000 10,000 0
OF ALSHES ALY 10,000, 000& 10,000
S 4,000
s 6,000
FHULLUSHFIXNAEEH 2 58,200 58,200 0
< 23,280
[ia 34,920
307 gl2tol & 58,200 58,200 0
< 23,280
s 34,920
10 AL SXNAIEEE2EHEX 58,200 58,200 0
OFMHALLUASHFINALAEH 29
58,200,000 58,200
< 23,280
s 34,920
AMEBOHIEHOAIL JI= XNJAHH 29 43,300 33,000 10,300
< 1,980
s 41,320
307 2201 A 43,300 33,000 10,300
< 1,980
[ia 41,320
11 ALS S XALEE = 43,300 33,000 10,300

_23_
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é
o
2
ro
]
[¢]

02
=2
°
e
[¢]

[AIE DI XI3HE 23

IAlE DIz X2 HH

33,000,000&

M H

24 (24l
10,300,000&

33,000

1,980
31,020

10,300

EUNE

30,000

2,400
27,600

30,000

307 21201 &

UL

30,000

2,400
27,600

30,000

ARSI S XA E X

OodFMe IAER

30,000, 000&

M

30,000

30,000

2,400
27,600

30,000

M

M A

3,000
2,100
270
630

4,000

1,000

Mo H

3,000
2,100
270
630

4,000

1,000

3,000,000

MW

3,000

3,000
2,100
270
630

4,000

A 1,000

MW

40,040
28,028
4,805
7,207

40,040

307 glztol &

HH W

40,040
28,028
4,805
7,207

40,040

1A SXAIE 2 =

OdFMe =X

0

R

40,040,000&

Mo H

40,040

40,040
28,028
4,805
7,207

40,040

oHel=X2 24

e}

39,638

36,841

2,797

307 21201 A

39,638

36,841

2,797

10 ASAAEHE2SH

oxoesxa 24X

39,638,000

39,638
39,638

36,841

2,797
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2N
X ZH -
L= B

el

81 X 2 2t
%XE SXX
Hol=xEx

SN HH-S(BN) - MBAY - B il HlnE2
11 Al = Xl ALY 42,618 0 42,618
OZOHQIBOIAIL AE) M&ZFA 42,618,0002 42,618
= 12,785
[ia 29,833
SSTHL UM 29 85,000 0 85,000
< 34,000
[ia 51,000
307 21201 A 85,000 0 85,000
< 34,000
e 51,000
11 ARSI = XA 85,000 0 85,000
OSSZMH Metdlye 29 85,000,000& 85,000
< 34,000
s 51,000
HH2F A 39,007 33,692 5,315
2 FH (LX) 39,007 33,692 5,315
Jl2zl 39,007 33,692 5,315
201 Let24E] 30,807 27,092 3,715
01 A2 22l 28,140 24,620 3,520
Ogt=&H| 7,400,000 7,400
O= &l 8,980,000& 8,980
O=SAD Xz 300,000& * 10H » 12& 3,600
O&F=D Xtz 50,000& = 104 = 12& 600
OdEFEH AEBF FH| 7,560
-ZHZelH 4,400
- EY 440,000 * 104 ~ 48 = 23] 3,520
= 440,000 * 1CH = 23 880
—otI el 200,000 = 7CH = 23] 2,800
—FAX 120,000& = 104 = 33l 360
02 2322l 2,667 2,472 195
O#HFHHl FXE=Hl 2,667
-CHIIsAR 1,300,000& * 31CH * 5% 2,015
-Zglg 4,000,000& = 8CH = 2% 640
—FAX 600,000& = 108 = 2% 12
202 04l 2,400 2,400 0
01 =LHA YI 2,400 2,400 0
OF0XJ R=& 0l 2,400,000& 2,400
203 PR =&l 4,800 4,200 600
04 EAN2IHRFEHI 4,800 4,200 600
ORAN2EIRFEHI 400,000& = 12& 4,800
405 Xtk S| 1,000 0 1,000
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H3r
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Off &t 24

1,000

1,000
1,000
360
640
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